CS (Main) Exam, 2013

A-BRL-M-L-VSEA

URDU
Paper—I1
(Literature)
Time Allowed : Three Hours , Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in Two Sections.

Candidate has to attempt FIVE questions in all.

Question no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted choosing at
least ONE from each section.

The number of marks carried by a question/part is indicated against it.
Answers must be written in URDU.
Word limit in questions, wherever specified, should be adhered to.

Attempts of questidns shall be counted in chronological order. Unless struck cﬁ‘f, attempt of a questicen shall
be counted even if attempted partly. Any page or portion of the page left blank in the answer book must
be clearly struck off.
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